2 REARE=SIVBRERR

i LT #55E (Ba/ke)
No | siEEtk | AR | wErH | . AP | FEER G RE RE% P L) R, B par | BRE 0 BR | oois | cerwr | osant
1 %f*ﬁ oy | BER s |— I REY HYYISE — BERRERE V- Ge H25.9.26 | H25.9.26 <44 <33 <17
2 %f‘;%;yj BEER BLm | — FEE REY =Ty — EREREERE VS Ge H25.9.26 | H25.9.26 <36 <29 <6.5
3 %f*ﬁ vy | BER s |— I REY ThE — BERERERE V- Ge H25.9.25 | H25.9.26 <41 <48 <8.9
4 %f‘;%;yj BEER BLm | — FEE REY IHTA — EERBRERE I Ge H25.9.25 | H25.9.26 <65 <46 <11
5 %f*,ff )y | BER Bm |- FRBR REY iR — BERRRBEEVS— Ge H25.9.25 | H25.9.26 <39 <40 <19
6 %f‘;%;yj BEER BLm | — FEE REY woLIYY — EREREEREG VS Ge H25.9.25 | H25.9.26 <48 <30 <18
7 %f*ﬁ vy | BER s |— I REY I¥5FF — BERRERE - Ge H25.9.25 | H25.9.26 <53 <53 <11
8 %f‘;%;yj BEER BLm | — FEE REY HRFv — EERBRERE I Ge H25.9.25 | H25.9.26 <36 <36 <12
9 %:%E )y | RBR Bm |- FRBR REY avyF — BERRRBEEVS— Ge H25.9.25 | H25.9.26 <38 <34 <12
10 %f‘;%;yj BEER AT |— FEE REY Tav®y — EREREEREtVS— Ge H25.9.25 | H25.9.26 <33 <32 <6.5
1 %f*ﬁ oy | BER BHT = I REY HYYISE — BERRERE V- Ge H25.9.25 | H25.9.26 <32 <32 <6.4
12 %f‘;%;yj BEER Bim |- FEE REY HrE — EERBRERE I Ge H25.9.25 | H25.9.26 <29 <25 <54
13 %:%E )y | RBR BHm |— JeRiE BEN 43y — BERRREEEVS— Ge H25.9.25 | H25.9.26 <41 <36 <17
14 %f‘g%;) 5 | BBR Bim |- FEE REY =Eip — EREREERE VS Ge H25.9.25 | H25.9.26 <33 <32 <6.5
15 %f*ﬁ oy | BER mEET |- I REY Zav¥y — BERRERE V- Ge H25.9.25 | H25.9.26 <50 <38 <88
16 %f‘;%;yj BEER mEET  |— FEE REY Tav¥y — EREREEREG VS Ge H25.9.25 | H25.9.26 <44 <30 <14
17 %f*ﬁ oy | BER mEET |- I REY FUTHA — BERRERE V- Ge H25.9.25 | H25.9.26 <52 <49 <10
18 %f‘;%;yj BEER mEET  |— FEE REY v ES EERBRERE I Ge H25.9.25 | H25.9.26 <38 <54 9.2
19 %f*ﬁ )y | BER mEEm |- FEiE REY THTA — BERRERE V- Ge H259.25 | H25.9.26 122 259 38
20 %f‘;%;yj BEER REHR |— FEE REY YNAUTY — EREREERE VS Ge H25.9.25 | H25.9.26 <52 <44 <9.6
21 %f*ﬁ vy | BER RER | I REY R St — BERRERE V- Ge H25.9.25 | H25.9.26 <6.6 <43 <11
22 %f‘;%;yj BEER REHR |— FEE REY YNAUTY — EREREERE VS Ge H25.9.25 | H25.9.26 <36 <35 <74
23 %f*ﬁ vy | BER RER | I REY R — BERRERE V- Ge H25.9.25 | H25.9.26 <54 <46 <10
24 %f‘;%;yj BEER RigET  |— FEE REY YNAUTY — EREREERE VS Ge H25.9.25 | H25.9.26 <44 <49 <93
25 %f*ﬁ vy | BER ERET |— I REY R St — BERRERE V- Ge H25.9.25 | H25.9.26 <46 <50 <9.6
26 %f‘;%;yj BEER JIHRET  |— FEE REY STARM(ERR)  (HES EERBRERE I Ge H25.9.24 | H259.26 <36 <33 <6.9
27 %f*ﬁ vy | BER JNRET— I REY I=heh (RS £ RERRRRE V- Ge H25.9.24 | H25.9.26 <39 <35 <74
28 %f‘;%;yj BEER TET — FEE REY ~ bk (5EER) ik EERBRERE S Ge H25.9.24 | H25.9.26 <27 <29 <5.6
29 %f“ﬁ vy | BER THET — I REY O¥5FF — RERRRRE V- Ge H25.9.24 | H25.9.26 <45 <56 <10




Ei &t B #5E (Ba/ke)

RAEEG | WEAR | DA | e, SO | FEER ) BE RE% P L) R, BREME par | 228 BR | oo | ooty
R, | wem | TmE | FHER | REN CL — ERRRRNA L 5— Ge | H2924 | H25926 | <30 | <a4
%f‘g%;) 5 | BBR THET  |— SERE REY FR — BERREREGEVS— Ge H259.24 | H25.9.26 <33 <30
%:%5 vy | BER REET |— I REY bk (5% B4 BERERERE V- Ge H25.9.24 | H25.9.26 <33 <32
%f‘;%;yj BER REET |— SERE REY BEE S — BERREREGEVS— Ge H259.24 | H25.9.26 <46 <87
R, | mem | mzam | FHER | REN bR ® ERRRRNA L 5— Ge | H2s924 | H2so26 | <37 | <35
%f‘;%;yj BER RIRET |— SERE REY bk (HEER) ks BERREREGEVS— Ge H259.24 | H25.9.26 <30 <33
R, | wem | mzam | FHER | REN FoHA |- e Ge | H2s924 | H2s926 | <39 | <37
%f‘;%;yj BER RIRET |— SERE REY E—v> — BRERRRRE VY- Ge H259.24 | H25.9.26 <49 <34
%:%E oy | BER RIRET | I REY koERTIY — BERRERE V- Ge H25.9.24 | H25.9.26 <30 <26
%f‘;%;yj BER RIRET |— SERE REY F4ay — BRERRRRE VY- Ge H259.24 | H25.9.26 <43 <41
R, | wem | wmme |- FHER | REN haE |- ERRRRNA L 5— Ge | H25925 | H2so26 | <45 | <27
%f‘;%;yj BER HBEA | — SERE REY YA E — BRERRRRE VY- Ge H259.25 | H25.9.26 <48 <45
R, | wem | wmme |- FHER | REN haE |- L Ge | H25925 | H2so26 | <52 | <42
%f‘;%;yj BER | FRTH |— B R REY HhAE — BERREREGEVS— Ge H25.9.24 | H25.9.26 <36 <34
R, | wem | zammm | FHER | REN =5 (68 ® ERRRRNA L 5— Ge | H2s924 | H25926 | <68 | <59
%f‘;%;yj BER | KEXEE |— SERE R REY FoAy — BERREREGEVS— Ge H259.24 | H25.9.26 <56 <43
R, | wem | zammm | FHER | REN haE |- ERRRRNA L 5— Ge | H2s924 | H2s926 | <42 | <as
%f‘;%;yj BER "ET |- SERE REY Lav¥y — BERREREGEVS— Ge H259.25 | H25.9.26 <52 <52
R, | wem | mam | FHER | REN vavky |- L Ge | H2925 | Hs926 | <53 | <ad
%f‘g%;) 5 | BBR aRE | — SERE REY THTA — BERREREEVS— Ge H259.25 | H25.9.26 <47 <38
R, | wem | =R | FHER | REN - L Ge | H25925 | H2so2s | <47 | <as
%f‘;%;yj BER WhEm  |— SERE REY n¥* — BERREREGEVS— Ge H259.24 | H25.9.26 <87 <26
%:%E vy | BER WhEH  |— I REY h¥ — BERRERE V- Ge H25.9.24 | H25.9.26 <29 6.82
%f‘g%;) 5 | BBR WhEm  |— SERE REY n¥* — BERREREGEVS— Ge H259.24 | H25.9.26 <40 <43
R, | wem | mawm |- FHER | REN e} — L Ge | H25925 | H2s926 | <41 | <26
%f‘g%;) 5 | BBR BaAf |— SERE R REY yv — BERREREGEVS— Ge H259.25 | H25.9.26 <87 <36
R, | wem | mawm |- FHER | REN e} — L Ge | H25925 | H2s926 | <45 | <42
RNy | EBR | mEsS |- RES | mEN Foy |- EBRBERE 5 Ge | H25025 | H25926 | 598 | 165
%:%5 )y | BER THET |- I REY yv — RERRRRE V- Ge H259.24 | H259.26 | <42 <37
%f‘;%;yj BER REET  |— SERE REY 7 — BERREREEVS— Ge H259.25 | H25.9.26 <50 <40




B &t B #5E (Ba/ke)
RAEEG | WEAR | DA | e, SO | FEER ) BE RE% P L) R, BREME par | 228 BR | oo | ooty
R, | mem | mzam | FHER | REN e} — ERRRRNA L 5— Ge | H2s924 | H2s926 | <45 | <30
%f‘;%fp 5 | BBR RIRET |— SERE R REY VS — EERRERGE S Ge H25.9.24 | H25.9.26 <59 <45
R, | wem | wmme |- FHER | REM | Fv(oA—v |- e Ge | H25925 | H25926 | <40 | <35
ARy | mem | mam |- FRES | mEN o1 — EBRBERE 5 Ge | H2so24 | M25926 | 117 | 18
R, | wem | zammm | FHER | REN o1 — ERRRRNA L 5— Ge | H2s924 | H2s926 | <51 | <50
%f‘;%;yj BER | KEXEH |— SERE R REY h¥ — BERREREGEVS— Ge H25.9.24 | H25.9.26 <40 <38
R, | wem | zemmm | FHER | REN o1 — e Ge | H25925 | H25926 | <62 | <62
%f‘g%;) 5 | BBR t) — SERER REY VS — EERRERGES— Ge H25.9.24 | H25.9.26 <57 <50
%:%E )y | BER REr |- I REY yv — BERRERE V- Ge H259.24 | H259.26 | <43 <35
%f",g%;) 5 | BBR t) — SERE R REY AFSY — BRERRERE Y- Ge H259.25 | H25.9.26 <27 <35
R, | wem | =R | FRER | RED o) — e Ge | Hese25 | H25926 | 575 | 109
%f‘;%;yj BER =&/ |— SERE R REY 7 — BERREREGEVS— Ge H25.9.24 | H25.9.26 <55 <50
%:%5 vy | BER REFET |— FETE & REY 7Y — BERRRBEEVS— Ge H25.9.17 | H25.9.26 316 50.9
%f‘;%;yj BER REFET |— SERER REY 7 — BERREREGEVS— Ge H25.9.17 | H25.9.26 <68 19.2
R, | wem | mEEm |- FHER | wEN 4 — ERRRRNA L 5— Ge | H2s92s | H2so26 | <ss | <92
%f‘;%;yj BER |Em |- SERE R BEY +H — BEERRERGES— Ge H25.9.26 | H25.9.26 <60 <17
R, | wem | mEw | FHER | wEN 4 — ERRRRNA L 5— Ge | H2s926 | H2s926 | <82 | <74
%f‘;%;yj BER BHf = SERE R BEY +H — EERRERGES— Ge H25.9.26 | H25.9.26 <92 <82
R, | wem | amE | FHER | wEN 4 — L Ge | H25926 | H25926 | <65 | <53
%f‘;%;yj BER INEFET |— SERER BEY +H — EERRERGE S Ge H25.9.26 | H25.9.26 <69 <53
%:%E vy | BER m | — FeimBE R BEY 4B — BERRERE V- Ge H25.9.26 | H25.9.26 <93 <9.0
%f‘;%;yj BER Wum |- SERE R BEY +H — EERRERGE S Ge H25.9.26 | H25.9.26 <84 <74
%:%E vy | BER m | — FeimBE R BEY 4B — BERRERE V- Ge H25.9.26 | H25.9.26 <89 <6.0
%f‘;%;yj BER Wum |- SERE R BEY +H — EERRERGE 5 Ge H25.9.26 | H25.9.26 <15 <6.2
R, | wem | mew |- FHER | EEN 4 — L Ge | H2s92s | H2so26 | <a1 | <15
%f‘;%;yj BER w/eHm |- SERE R BEY +H — BEERRERGES— Ge H25.9.26 | H25.9.26 <79 <55
R, | wem | mew |- FHER | EEN 4 — L Ge | H25926 | H25926 | <89 | <76
%f‘;%;yj BER WhEd  |— B R BEY *A — BERREREEVS— Ge H25.9.26 | H25.9.26 <81 <15
A, | wem | vhEw |- FHER | wEN 4 — L Ge | H25926 | H25926 | <69 | <70
%f‘;%;yj BER INEFET | — B R BEY *A — EERRERGE S Ge H25.9.26 | H25.9.26 <11 <87




Ei &t B #5E (Ba/ke)
RAEEG | WEAR | DA | e, SO | FEER ) BE RE% P L) R, BREME par | 228 BR | oo | ooty

R, | wem | vhEm |- FHER | wED 4 — ERRRRNA L 5— Ge | H25926 | H25926 | <80 | <77
%f‘;%;yj BER SR |— SERE R BEY +H — BERREREGEVS— Ge H25.9.26 | H25.9.26 <80 <81
R, | wem | mEW | FHER | wEN 4 — e Ge | H2s926 | H2s926 | <71 | <15
Ry | mem | mem |- FmER | EEN 4 — EERERMA L S— Ge | M2s92s | Hse26 | <11 | <72
R, | wem | zemew |- FHER | REN avsy  |ERE ERRRRNA L 5— Ge | H25926 | H25026 | 146 | 507
RNy | mem | maam | FMER | REND Iy |wEE ERRERLA L S— Ge | H2926 | H25926 | <42 | 198
R, | wem | mzam | FRER | RED avsy |EEE e Ge | H25026 | H25926 | 570 | 536
%f‘;%;yj BER | fFEMT |— SERER REY BISVAD HiRE BRERRRRE VY- Ge H25.9.26 | H25.9.26 53.1 162

R, | mem | mzam | FHER | REN SEC TN 7 L Ge | H2s92s | H2s926 | <25 | <18
%f‘;%;yj BER RIRET |— SERE R REY A% BER BERREREEVS— Ge H25.9.26 | H25.9.26 <47 <41
R, | wem | zmmw | FHER | REN SEC TN 7 ERRRRNA L 5— Ge | H2s926 | Hs926 | <49 | <40
%f‘;%;yj BER =gET |- SERE R REY A5 BER BERREREGEVS— Ge H25.9.26 | H25.9.26 <46 <41
R, | wem | zmmw | FHER | REN SEC TN 7 L Ge | H2s926 | Hs926 | <45 | 474
ARy | meR | —Enw |- RES | mEN BERLLES |1 BERERLA L 5— Ge | M25925 | H25927 | <67 | <67
R, | mem | e | FHER | REN BRLLET (R ERRRRNA L 5— Ge | H2925 | Hso27 | 397 | 573
%f‘;%;yj BER RiRET  |— SERE R REY BERLLM=F ik BRERRRRE VY- Ge H25.9.26 | H25.9.27 <45 <82
R, | wem | mmam | FHER | REN BRLLET (R ERRRRNA L 5— Ge | H2s926 | H2s927 | <37 | <40
%f‘;%;yj BER RiRET  |— SERE R REY BERLLM=IF ik BRERRRRE VY- Ge H25.9.26 | H25.9.27 <28 <31
R, | wem | mmmm | FHER | REN BRLLET (R L Ge | H2s92s | Hso27 | <ar | <ad
%f‘;%;yj BER RiRET  |— SERER REY BERLLM=F ik BRERRRRE VY- Ge H25.9.26 | H25.9.27 <47 <43
R, | wem | mmmm | FHER | REN BRLLET (R L Ge | H2s92s | H2so27 | <51 | <37
%f‘;%;yj BER RiRET  |— SERE R REY BERLLM=F ik BRERRRRE VY- Ge H25.9.26 | H25.9.27 <87 <35
R, | wem | mmmm | FHER | REN BRLLET (R L Ge | H2s92s | Hso27 | <25 | <32
%f‘;%;yj BER | KEXEH |— SERE R REY BERLLM=F ik BRERRRRE VY- Ge H25.9.26 | H25.9.27 <43 <40
R, | wem | zammm | FHER | REN BRLLET (R L Ge | H2s92s | Hso27 | <35 | <ad
%f‘;%;yj BER RIBF  |— SERE R REY BERLLM=F ik BRERRRRE VY- Ge H25.9.25 | H25.9.27 <49 <39
R, | wem | mam | FHER | REN BRLLET (R L Ge | H2925 | Haso27 | <45 | <32
%f‘;%;yj BER THET |— SERE R REY AL =T ik BRERRRRE VY- Ge H25.9.26 | H25.9.27 <38 5.99
R, | mem | TmE | FHER | REN RALMED [ L Ge | H2s926 | Hso27 | <25 | 8a

%f‘;%;yj BER RN |— SERE R REY AL =T ik BRERRRRE VY- Ge H25.9.26 | H25.9.27 105 274




L] #5232 (Ba/ke)

NO | i T R I B RE% P L) R, BREME pax | B2E | BR oo | oerwr | cead
120 %f“ﬁ )5 THBET FeimBE R RARLL=F ) BERRRBEEVS— Ge H25.9.26 | H25.9.27 9.24 143 24
121 %f‘;%fp,j T 4ERET B FRARLL=F F&ih EERBRERE I Ge H25.9.26 | H25.9.27 <34 <28 <6.2
122 %f“ﬁ )5 SEHET B RARLL=F ) BERRRBEEVS— Ge H25.9.26 | H25.9.27 467 9.81 14
123 %f‘;%;yj LhET B BR7EHT ik EERBRERE I Ge H25.9.25 | H25.9.27 <41 <35 <16
124 %f*,ff IS, LWhET FeimBE R HR7GEH £ BERRRBEEVS— Ge H25.9.25 | H25.9.27 <37 <39 <16
125 %f‘;%fp,j T 4ERET FEE ERGEHT HEE% EREREERE VS Ge H25.9.26 | H259.27 <32 <30 <6.2
126 %f*,ff % S B RA7ZzHZ ) BERRRBEEVS— Ge H25.9.26 | H25.9.27 8.66 32.1 41
127 %f‘;%fp,j T 4ERET B FEARGH Eith EERBRERE I Ge H25.9.26 | H25.9.27 <35 7.27 7.3
128 %f*ﬁ % SEHET FeimBE R RA7Z2HT ) BERRRBEEVS— Ge H25.9.26 | H25.9.27 34 10.4 14
129 %f‘;%fp,j T 4ERET B BR7GEHT Eith EERBRERE I Ge H25.9.26 | H25.9.27 <37 <40 <17
130 %:%E % REA FETE & BREL=F 54 BERRRBEEVS— Ge H25.9.26 | H25.9.27 <40 <36 <16
131 %f‘;%fp,j T 4ERET B FEARFEN=IF F&ih EERBRERE I Ge H25.9.26 | H25.9.27 <49 7.82 7.8
132 %f“ﬁ )5 THBET FeimBE R RAFEN=F ) BERRRBEEVS— Ge H25.9.26 | H25.9.27 <45 <41 <86
133 %f‘;%fp,j T 4ERET B FRARFEN=IF F&ih EERBRERE I Ge H25.9.26 | H25.9.27 <34 <38 <12
134 %:%E % THBET FeimBE R RAFEN=1F ) BERRRBEEVS— Ge H25.9.26 | H25.9.27 <41 10.7 11
135 %f‘;%fp,j E=1:) B RARFEN=IF F&ih EERBRERE I Ge H25.9.26 | H25.9.27 <46 <32 <18
136 %:%E % SEHET FeiBE R RAFEN=1F ) BERRREEEVS— Ge H25.9.26 | H25.9.27 <41 <43 <84
137 %f‘;%fp,j E=1:) B RARFEN=IF F&ih EERBRERE I Ge H25.9.26 | H25.9.27 <45 459 46
138 %f“,ff 7 BARET FeimBE R RAEN=F | Bt BERRRBEEVS— Ge H25.9.26 | H25.9.27 148 33 48
139 %f‘;%;yj Wi ET FEE FEAREN=IF =it EERBRERE I Ge H25.9.26 | H259.27 <30 4.99 5
140 %:%E % 1HET FeimBE R RAFEN=1F ) BERRRBEEVS— Ge H25.9.26 | H25.9.27 <39 <32 <71
141 %ff’fp,j RERH B BREW=F F&ih EERBRERE I Ge H25.9.26 | H25.9.27 <34 2.97 3
142 %f*,ff % (e FeimBE R HRVBI=F £ BERRRBEEVS— Ge H25.9.25 | H25.9.27 <44 7.1 71
143 %f‘;%;yj fREm FEE ERUVL1T ik EERBRERE I Ge H25.9.25 | H259.27 <39 132 13
s (FRE AR g BEOBET R ERRERLA L S— Ge | M25926 | H2s027 | <28 | <27 | <
145 %f‘;%fp,j E=1) B BRUT=I1F ik EERBRERE I Ge H25.9.26 | H25.9.27 <40 <33 <13
146 %f“,ff I =BT FeimBE R HRVBI=F £ BERRRBEEVS— Ge H25.9.26 | H25.9.27 <32 <28 <6
147 %f‘;%fp,j T 4ERET B BRULT=IT F&ih EERBRERE I Ge H25.9.26 | H25.9.27 <39 <32 <11
148 %f*ﬁ % SEHET FeiE R &=Lt =it BERRRREEVS— Ge H25.9.26 | H25.9.27 <41 <28 <69
149 %ff’fp,j RIEXER B BT — EERBRERE I Ge H25.9.26 | H25.9.26 <39 484 48




